
 NTNU, 0

Bjørn Christian Abrahamsen
Sloshing induced tank-roof impact
with entrapped air pocket

ISBN 978-82-471-2597-7 .)
ISBN 978-82-471-2598-4 (ele  .)

ISSN 1503-8181

N
TN

U
N

or
ge

s 
te

kn
is

k-
na

tu
rv

ite
ns

ka
pe

lig
e

un
iv

er
si

te
t

Av
ha

nd
lin

g 
fo

r 
gr

ad
en

ph
ilo

so
ph

ia
e 

do
ct

or IV
T

M
ar

in
 te

kn
ik

k

B
jørn C

hristian A
braham

sen
D

octoral theses at N
TN

U
, 2011:38



Bjørn Christian Abrahamsen

Sloshing induced tank-roof impact

with entrapped air pocket

Thesis for the degree of hilosophiae

Trondheim, January 2011

Norwegian University of

Science and Technology 

 Faculty of Engineering Science and Technology

 Department of Marine Technology 



NTNU



�

��������

������ ��	 �
��
� �	��		� ��	 ��		 �����
	 �� � ������ ��� � ����� ����
���	� ��� 
���� �	
	������	�� ��	 ��� 
�� ��	� �	 
�
��	��	� ��� ����
���� ��	
� ��	 �	������� �� ��	 ���

���
	�	��� ��	 �����	��	 ����� ��	 �����
�� 	�	
�� ���	����� ���

��� ���� ��� 	�����
	��
�� �����	 
�
���	� �� ��	 �����	��	 ����� ���

��� ������� ��� 	�����
	��� ��
	�������
�	���	� �� ��	 ���	����� �����
�� 
	
�����
� �	�	���	� ��
	������� �	���	� �� �
����� ����
��	� 
��	� �
��	 	��	��
	��� ��	 
����	� ����

�� ���	� �� ������ �	� �����	��	 ����� ��	 �����
�� 	�	
�� ���	����� ��	 ��� ��
�	�
�
��
�� ��	��� 	� �����	� �� �� 	������	� ��� ��
�	� ��� �	����
	�� ���� ��� ��
�	� �
��
�
���� ���
	 ������ �������� �����	 � �	
�������� ���� ���� ���	� �� � ����	 !����� ������ ��	
�����	
 ��� �����	� ���� �� �	��
��	� 	��	��
	��� ��� 
���	
���
�� 
	������ ��	 ��
	
������� �� ��	 ��	����	 
	����	� �����	 ��	 ��� ��
�	� �	�	
��	� ��	 ��		 ��
��������� �� ��
���	�"��
�	� �����	 �	��		 �� ��		��
 
���"������ ����	
� #	�
	� ��	 ��	����	 ��
���������
���	 � 
����
�	�����
 �	���� ��� �
������	� ��	�	 ��	 �
������	 �	�	����� ����� �	
���

��� 
���	
���
�� 
��	�� ���	 �		� �����	� �� �	�
���	 ���� ��� ��
�	� ���

��� 	�	��$
��	 %��	� &��	����"'��������� (%&') 
	���� ��� ��	 �	
�"�������
�� ��� ��
�	� 
��	�
(*+%)� ��	 %&' 
	����� �� �� 	������� 
	���� ���	� �����	� �� ��		 �����
	 �����	
�
��	�	 ��	 ������ 
�� �	 
��	��	� ����� ���	����� ,�� ��	��� ����
��� ��
�
��	�����	 �������
��	 %&' 
	���� �� �����	� ���
 ��	 ������� ��	� ��	 ���	 !��� ���
�	� ��	 ���� ���
������ ��	 ��� ��
�	� �
��
�� ��	 ������� 
��������� �� ��	 %&' 
	���� �� ������	� ��
� ���	� ��
	��
�� 
	���� ���
� �	 �	���	 ��	 ��������"	�	
	��"!���	"���	�	�
	 
	����
(-&.�%)� ��	 �	
��� 
	���� ��	� �� 
��	� ��	 ��� ��
�	� �
��
� ��� �� 	������� �	
�"
�������
�� ��� ��
�	� 
��	��

��	 
�
������� �	��		� ��	 
���	
���
�� 
��	�� ��� ��	 	��	��
	��� ����� ���� ��	�	
	������� 
��	�� 
�� �	�
���	 ��	 �	���� ��� 
���
�
 ��	����	 �� ��	 ��
���������� #��	�	��
��	 ��	���� �	
�� ��	�� �		� �� ��	 	��	��
	��� 
����� �	 �	��	�	��	� �� ��	 ��	�	�� 
��	���
��	 �� ���� �	!
�	�
� �� ��	 
���	
���
�� 
��	��� ���	�	�� �����
�� 	�	
�� �	��	�	� �� 
���	
�	
�� �	�	 ���	������	�� ��	 �������	 ����
	� �� �	
�� �	�	 (�) �	�� 	�
����	 �	��		� ��	 ���
�����	 ��	 ��� ��
�	� ��� ��	 ����������� ���� ���� ��� ���	�� (��) ���
��� �������� ���	�� ��
��	 ���	� �� ��	 ���� ������ ��� (���) ��� �	����	 �� ��� ���
 ��	 ��� ��
�	�� ��	 	�	
� �� �	��
	�
����	 �� ��� ���
 ��	 ��� �����	 ��	 ��� ��
�	� ��� ��	 ����������� ���	� ��� ���� �����
��� �����	� 
���	
���
���� ������� � ���	��� ��	"��
	�������� ��	���"����	 ��� 
�������
��	����	 �	�� 	�
����	 
��	�� -��	� �� ���� �� ��� ����� ���� ��	 ���������
 ��� 
��	�
��	� ��� ��	 %&' ��� *+% 
	����� ���� �� 
��	� ��	 ��
���� 	�	
� �� �	�� 	�
����	� ��
�������� ��	 �	�� 	�
����	 
���!	� ��	 ���������
 	����	�� ��� �	�
	 ��	 �����	�� ����	���	�
�� ��	 ��� ��
�	� ��
���������� #��	�	�� �� ��� ����� ���� � ���� �	��	�	������� �� ��	 ���
��
�	� �����	�� 
�� �	 ������	� �� ����
��� ��������
 
��������� ��� ��	 ��� ��
�	�� �����	�
�� ���� �����

��	 	�	
� �� ���
��� �������� ���	�� ��� ���	������	� ������� � 
���	
���
�� 
��	�
����
��� ���	�� ����	��� ��
���� �������� ���	��� ��	 ���	��
���� �	��		� ��	 ,�� !	�� ��
��	 	��	���� ���	� ��� ��	 ,�� !	�� �� ��	 ��
�������� ��� ��
�	� ��� �	��	
�	�� -��	� ��
���� 
��	� � ���	� ����� �� ��	 ��
���� ����� ��� 	���
��	� ��� �� ��� �		� ���� ���
���



�

�������� 	��
�� ���
����

� 
� 
�
 ������� �� 
�
 ��
����
 ����		�
�����
���
� �� ����
� 
��
� �� 
�
 ��� ����

 ������ 
�
 
��
���
�
� �
 ����	��
� 
��
 ���

	
����
 ��� ��
 ��
�
�
 ��

� 
�
 ���
 ��
����
 �������� ��� ���	� 
�
�
���
 ��
 �
 
�

����
 �� 
�
 ��
��		 �
��� 
�
��� �� �

 
�
 
�
�
 �� ��� 	
����
 �� ��� ����

 ����		�
����
�� �
�
��	� ���
�
�
	� ���
� ��	
� �� 
�
 
��� ���� �
�
 ���
 ��� 
�
 
�
�
 �� ��� 	
����

�
���
�� ��� 	
����
 ��� �

� 
� ����
 �
��� �� 
�
 ��
����
 ����		�
����� ��
 ������� ��


� ��� 	
����
 ���� �
�
����� �� 
�
 	
����
 ��
�� �
 
�
 	���
�
 �����
 �� ��������

 � ���
� 
� ���	
 
�
�
 
��
� �� ��� ����

 �����
� � �
� ���	��� ����
���
 �� ������
��
���� �� 
�
 ��
����
!���	�
��
 ��� ���
!
��
 ���	��� ����
���
 "#�$�%&� ��
 �

��� ���	�
�

� 
�
 ���
 ��
� ��� ����

 ���
	 
��
���
�
� ��
 �
�����
� �� ����
������ 
�
 ���
 '����

����
�� ���	���� �
��

��� ����	���
� ��� ����� �
�����
��� �
�
�
��
 ��
����
 ��� 
�
 ���
	
�� ��� 
�
 ���
�
��
� ��
 �

��� �� ���	����	
 ��� 
��� ���� �����
� (��
�
�� 
�
 �

���
��� �
 �
�
��	��
� 
� 
�
 �����
 �� ��
����� ���
� 
�
������� ��� ����

� �� �
�
���	 ��		��
������� �� 
���
��� �

��� �� )�����
� ��	� 
�
 ��
����
 ���	�
��
 ��� �
 
�
���

��
*�
� 
�
 ��
�
�
 �

��� ��
� 
�
 ��
����
 ���	�
��
 ��� 
�
 ���
 
��
 ��� �
 ������ ��

���
 
��
 �� �� �����
��
 �����


� �� ������� �
���
���	 ���	�����



�

��������	
�����


� ��� �� � ���		
��
 �� 
��� ����� �
������� 
�������
� ����
��
� �����
��
 ��� ��
��������

�� ��� �

� � 	�� �� ����� � 	�� �� 	
������� ��

 ���� ��

� ��� ��

 
�

��� �� ����
�


��

� ��		 �
�
� ����
�� � ���	� 	��
 �� ����� ��
 �
��	
 ��� �
	�
� 

 �	��� ��
 ����

 ����� �� 
� 
!�
		
�� ���
������ ����
���� "�� #� $�	����
�� �� ��� �

� �� ������ ��

�
 ���� ����
���  ����� �� ����
����  ���
�� #��� ��� ������ 
� ��� ���� � �
�� �����

�� ������ 

 ��� �
�
���� ���� ������ ��
 ��


�� �� %&&' ��� %&&(�  ����� �� ��� �
��
�

�� )
���
	�
�� ��� *��
�
 +� ,-���
�-� #�� ������ ��� .-��
� /�	�� ��
��
 ������
�
� ���

0���� �� +�
���
� ��� �
����� ����� �� ���� ��
��� ��� ����
����� �
����


����  ����� ��

���  ����
 1��������
�� ��� ����� 1��������
�� ��� �
��
� �� )
���
	�
�� ����
���� #���	
��

2�
��� ���� 2� $�
�����
�� ��� ����
� 3�	����� ��� ����������� �
������� 
����
 �������4

��
��� ��� ��� 	��
 �� �
�
��	�  ����� �� 
� ���� ���
��� ��� 5�� 
��
� #�!�

  ���

��� 0
6� $����6����� ��� �		 ��
 ���
�
����� ����
��������� ��� ��	����	 	
��������  ����� ��

��� "	�� 0���
����
 ��� ����
���� ��
������ �
	��
� �� ��
 �	������ 
!�
��

����  ����� ��


� ���� ���
��� ��� �������� ��
������� ��� *��
�
 +� ,-���
�- � ��� 7����� +������� ���

��� /������ +� �	���� .
� ��	 ���8 ����
 
�� 
�� �	
� ��
�
� 
�� ��� )9-�� �� 
�� �-��
�

��
��
 ��� ��-��
� �
�
 ��� ���� 

� �	�� �� �
��
 ���
��
� ����
 �9
���
�-�
��

 � �		 �� ���� � ���	� 	��
 �� �
���� ��
 ������ ��

����



�



��������

� �������	�
�� ��

��� ������	
 ���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �


��� ���������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

��� ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

��
 �	����� �� ��� ���
�
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

��� �������	����
 �� ��� ���
�
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��

� 
����
������ 
�����
���
�� �� 
����
��� �
� ��	���� ��

��� ������ ���!� 
��	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �


��� �����!���� 
�"�!� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �#

��� �������� �� ��� $�%����� !�� ������
 � � � � � � � � � � � � � � � � � � � � � � �&

��
 '�� !�� ������ � �!�� $���$�$ �� 
�!"�
 � � � � � � � � � � � � � � � � � � � � � �#

��
�� '�� 
��
���" 
�!"� � � � � � � � � � � � � � � � � � � � � � � � � � � � � �(

��
�� '�� !�� �
�!�� 
�!"� � � � � � � � � � � � � � � � � � � � � � � � � � � � �&

��
�� '�� !�� ������ �
����!���� 
�!"� � � � � � � � � � � � � � � � � � � � � � 
�

��� ������ ���!� )�$��"
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
#

� �����
	�� ����� �� ��� �����
�� ��� �
����	��� ������ ��

��� ��*
��!� !

	 �����
 �� ��� 
��
���" 
�!"� � � � � � � � � � � � � � � � � � � � ��

��� +  !��� !���!� ������ ��� ��� 
��
���" 
�!"� � � � � � � � � � � � � � � � � � ��

����� '�� ��	�$!�* ����"�!� �,	!���� ��� ��� �!��� � � � � � � � � � � � � � ��

����� '�� ���� 
	��!�� ���$�����
 � � � � � � � � � � � � � � � � � � � � � � � � �#

��� '�� �	 ����!�  ����$ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #�

����� '�� ��	���$  !

 ���
���!���� �,	!���� � � � � � � � � � � � � � � � � #�

����� '�� �� � ����"�!���� �����$	�� � � � � � � � � � � � � � � � � � � � � � #�

����� -�"��$$��" �� ��� ���� 
	��!�� � � � � � � � � � � � � � � � � � � � � � � ##

��
 '�
� �!
�
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � #.

��� /	 ����!� 
��	���� �� ��� 
��
���" !�$ !��0�
�!�� 
�!"�
 � � � � � � � � � � � � (�

��# �� ���

���� �%���
 �� ��� �
�!���" !�� 1�� � � � � � � � � � � � � � � � � � � (&

� �����
	�� �����
�� �� �
� ��	��� �  !


�� 2!��� !���!� ������ �� ��� �
����!���� 
�!"� � � � � � � � � � � � � � � � � � .(


�� /	 ����!� 
��	���� �� ��� !�� ������ �
����!���� 
�!"� � � � � � � � � � � � � � .&


�� '�
� �!
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � &�

(



� ��������

��� 	
���
��� ��
��� ��� �
��
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � ��
��� 	
���
��� ���
�
�� �� ��� �
� ������ ���
����
�� ����� � � � � � � � � � � � � � ��

� ������	�
���
�
 ����
 �� ��� ��� ��
��� ��
�

����	 ����� ��

��� �������
�� �� ��� ���
�������
��� �����  !"#$ � � � � � � � � � � � � � � � � ��
��� %&��� �� ���� �'������ �� ��� �����
�� ���
����
��� � � � � � � � � � � � � � � �()

����� *
���� ������ ����� �����������
� ������
� � � � � � � � � � � � � � � �()
����� ����
���
�� ��� �&���
+� ��������
� �'������ � � � � � � � � � � � � � � �(,

��) %&��� �� +
���
� -�
����� ������ � � � � � � � � � � � � � � � � � � � � � � � � �(�
��� .���
�� 
���
��� 
� ��� ���
�������
��� ������ � � � � � � � � � � � � � � � � ��)
��� /�� �&��� �� �
� ������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ���
��, 0
��
��� ���� ��� ���
�������
��� ������ � � � � � � � � � � � � � � � � � � � ��,

� ���������	 �� ��������	�� �	� ���������
�
 ����
� ���

,�� ������
��� �� ��� ���� �
����� �������� � � � � � � � � � � � � � � � � � � � � ��(
,�� ������
��� �� ��� �����
����
�� �
����� � � � � � � � � � � � � � � � � � � � � ���
,�) .���
�� �� ��� �����
�� �
�� �
�����1 � � � � � � � � � � � � � � � � � � � � � ���

� �
�
�	� �� ��� ��
��� ����
�� ���

2�� " ��������
��� ����� �� �� �
� ������ � � � � � � � � � � � � � � � � � � � � � ��,
2�� 3�����
�� ��� ����
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ��2
2�) ������
��� 4
�� ��� #%* ������ � � � � � � � � � � � � � � � � � � � � � � � �))

� ��	

����	� ���

� ���������	� ��� ������  ��� �!�

" #��� ��� $���%�
��� �� ��� ��	� ���� �	$��	
� ��� ����
��& �!�

' "	�
���
 ��
����	 �� ��� '() �	�����
� ���

� #���*����	 �� �	 �	�
���
�
 � ������� ���	��	�  �*� ���

# +	
��������%
� ��
����	 ��� ��� ��
���	� ��� ���

( '�
�����	� �� ��� 
��������%
� ��� ��
*�� ���

, ����
��� �# 
�	��� ���� �	�
���� ���



�������� �

��������	�
��


�� �	
 ���
���

����� ������
������������	����	��
���� �������

�� ����
� ������

��� �	 �� ����
	������
���	�� �������

��!"# �
����
������	���� ��� 
	����	�� ����	�� �
�����
��

#�$� #	��������	���� ����	���
 ����	����� �������

��������	�


n ��������� �% �
��	��� 	� ��� �	
���	�� �% ��� ��
��� &����
 n�

τ ��������� �% �
��	��� 	� ��� �	
���	�� �% ��� �������	�� &����
 τ �

x ��
	&��	&� '	�� 
������ ��  ����
�	�����

y ��
	&��	&� '	�� 
������ �� �����
�	�����

�����

����
��


α ������� �% ������
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Relevant previous studies:

Entrapped air pocket at a wall

The impact of a flat plate

Entrapped air pocket under a structure

Air pocket slamming during sloshing
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Breaking wave at a wall Bagnold’s piston model
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��	�� ������%$ &	��%��� '(() ����
������ � ������% ������	�� ��� ��� ��*��	� �����	�� ��
��� ���+�� ������� 
���� �� ,�%����-� ������ ����� ���	���% ����
���� ���������� ��� ���
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�	�
��� �������� ��������� �� ��� �����	��$ "���� ���� � ������� ���	��	��� ����� �� ���" ��
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34&
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���" ���� ���� ������% ������	�� �� �����	����� 
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"��� ��� ������% ������	�� 
� &	��%��� '(() "���� "�� 
���� �� ,�%����-� ��������� ������
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��� i �� ��� ��	������ ���� 	������ ���$������
ηi �	 ������� �	�

ηi(t) =

{
ηai
[
cos(σi{t− tsi})− 1

]
t ≥ tsi

0 t < tsi
������ σi =

√
gπi

L
tanh

Hπi

L
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cos (πn{x+ L/2}/L)
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∂x

)
+

(
βs +

ρg
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∂x
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∂x �����
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∂n log(r)ds �����
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φ(ξ)
∂ log(r(ξ,x))

∂n(ξ)
− ∂φ(ξ)

∂n(ξ)
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p̄+ ρ
∂φ̄

∂t
+

ρ

2
∇φ̄ · ∇φ̄+ ρgy = C. 	
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����� ���� y $������� �$������ ∇φ̄ �� ��� ���������� �� ��� �������� ��������� ������ ��� p̄#
ρ ��� g ��� ��� �������� $�������# ��� ������� �� ��� ����� ��� ��� ������������ �� �������#
���$��������� +� �� ����������� ������# ��� ���� ∂φ̄/∂t ���� �� ���������� 1�� ��� �����
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[
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Δt

]
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Δt

]

=
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∂φ̄
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∂x

)]
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���
������� �����
 ������� ������ ��������� �� ��� ����	� ��
 
�
��� ��������� ���� ��	� ��������
��� ������� j� ��� ��������� �� φ �� ������� ��

φ =
[
1− ξ−ξj

ξj+1−ξj

ξ−ξj
ξj+1−ξj

]{
φ1

φ2

}
j

= 	N
{φ}. ������

 ��� ξ �� 	���
������ �� ��� ��	�� 	���
����� ������ �� ����� !�"�  ��� ��� ����	��
� " ��

� �� φ ����� �� ��� ����� �� φ �� ��� ��
� �� ��� �������� #������ ��
����������� �� ���
 ���
dφ/dn� ���� ���

dφ

dn
= 	N
{σ}. ����$�

%��� ����� �&
�������� ��� �������
 ���� �'������ ���"�� ����

θiφi −
Ne∑
j=1

∫
sj

	N
∂ log(r)
∂n

ds

{
φ1

φ2

}
j

= −
Ne∑
j=1

∫
sj

	N
 log(r)ds
{
σ1

σ2

}
j

. ����(�

����� ��������� 	�� �� ��������� ��
 �&
�����
 ������� ���� ����	 ��������� I1i,j� I
2
i,j� I

3
i,j ��


I4i,j �� �������)∫
sj

	N
 log(r)ds =
[
I1i,j − 1

ξj+1−ξj

(
I3i,j − ξjI

1
i,j

)
1

ξj+1−ξj

(
I3i,j − ξjI

1
i,j

)]
����*�

=
1

ξj+1 − ξj

[
ξj+1I

1
i,j − I3i,j I3i,j − ξjI

1
i,j

]
= −[cij , dij]. ����+�



�� �������	
 ����
 �
 ��� �
������ 	�� 	������	�� ��	���

��������� �	 
	��∫
sj

	N
∂ log(r)
∂n

ds =

[
I2i,j − 1

ξj+1−ξj

(
I4i,j − ξI2i,j

)
1

ξj+1−ξj

(
I4i,j − ξjI

2
i,j

)]

�����

=
1

ξj+1 − ξj

[
ξj+1I

2
i,j − I4i,j I4i,j − ξjI

2
i,j

]
= −[aij , bij ]. 
�����

�	�	 ��	 ���	
���� ��	 
��	� ��

I1i,j =

∫
sj

log rdS 
�����

I2i,j =

∫
sj

d log r

dn
dS 
�����

I3i,j =

∫
sj

ξ log rds 
�����

I4i,j =

∫
sj

ξ
log r

dn
ds. 
�����

��	 ���������� �������� �� ��	�	 ���	
���� ��	 ��	�	��	 �� ���	� �! "� #$������ ���%	� i
��� ��� %	 �����	� ��&

θiφi +
Ne∑
j=1

(aijφ1j + bijφ2j) =
Ne∑
j=1

(cijσ1j + dijσ2j). 
���'�

��	 %��� ��� 	�	�	�� 	$������� ��	 ��� �����	� �� �����! ���������

[G]{φ} = [H ]{σ}. 
���(�

�	�	 [G] �� [H ] ��	 ��	)��	�� ������	� �� {φ} �� {σ} ��	 ������ �	����� ���������

�� �� ����	� �* φ �� σ� ���� 	$������ ����	�� ����� �	��	�	��� ���� ����	������� �* ��	
���	�  ������ �� ���� ��	 �� ��	 ���	����� �	��� *�� ��	 ��� ���+	� ����������� ���
	 �* ��	
��� ���+	� 	!�	���	�� ����� �� ��	�	��	 ��  	���� �� �����	� '� �� 	��	 ��	 ��	�	������� �*
��	 ���	����� �	��� �� ���� �����	� ��	 	$������ ����	� 
���(� �� ����	��	���� �	�����	�
��& [

G1 Gf Gs

]⎧⎨⎩
φ1

φf

φs

⎫⎬
⎭ =

[
H1 Hf Hs

]⎧⎨⎩
σ1

σf

σs

⎫⎬
⎭ . 
���,�

��	 ���%	���
 �* ��	 ��+����� ������ �� ��	 *�		 ���*��	 �� 	 �����	 �� 
x = L/2� �� 
�������	� �� ��	 �����	�-����+���	  ��	������ ��	 ��%������ � �� *�� �������	 φ1 �� σ1

 	���	� ���� ����� ������ ��	 ��%������ f  	���	� ��� ��	 ���	� �� 	� �� ��	 *�		 ���*��	
����	 ��	 ��%������ s  	���	� �� 	� �� ��	 ��������	� .	!� ��	 	$������ ����	� 	!��	����

���� ����	������� �� ��	 ���  ����� ��  	���	 �

��	 	$������� 
����� �� 
����� 	!��	�� ���� ����	������� *�� ��	 ���� ��	�	 	$�������
��	  ����	��/	 ����
 ��	 0���	  �1	�	��	 �	��� 
234�� ��	 %���+ �$���	� 
�� �		� ��



���� ��� ����	
��
 ������ ��

����� ��� ��� 	
� ��
�� �� 	
� ��� 
����� ��
 ��� ���
 	� 
�����	��� 	
� ����	����� �
� ����
������� ���	���� Nf ��
��� 
���� 	
� ���	���	 ��
� �� 	
� ���� ������� �� ��
� ������ Nf �
�
� ��������� 
�����	���	��� �� 	
� 
������	 	���� �� ������ ������� �	��	��� ��	
 	
� �����

��
�� 
�����	��� �� φg� �
� 
�����	���	��� �� 
��� �� � ������� ��
� ������ 2 ≤ i ≤ Nf

�
��� �� ����� ��� 

∂

∂x

[
h

(
∂φg

∂x

)]

≈

[
(φ

i−1/2
gx hi−1/2)− φ

i+1/2
gx (hi+1/2)

]
Δxi

≈ hi−1/2

ΔxiΔxi−1/2

φi−1
g − 1

Δxi

[
hi−1/2

Δxi−1/2

+
hi+1/2

Δxi+1/2

]
φi
g +

hi+1/2

ΔxiΔxi+1/2

φi+1
g

= aiφ
i−1
g + biφ

i
g + ciφ

i+1
g .

����!�

"��� 	
� Δxi−1/2,Δxi,Δxi+1/2 ��
 hi−1/2, hi+1/2 ��� �����	����� #�����	��� �� ����	���
����!� �
��
 ��� 
����
 �� ����� ���� �
� ����� 	�����	��� ����� �� ����	��� ����!� �� ��
���	 ��
�� �� Δxi� �� ���	
�� 
�����	��� ����	��� ������ 	
� ������ ��
 	�����	��� ���	��� n

��
 τ �� 	
� ���� ������� ��� ���
�
� $�� 	
� ��
�� 2 ≤ i < Nf � 	
� ������ ��
 	�����	���
���	��� ��� 
����
 �� 	
� ������ ��
 	�����	��� ���	�� �� � ���
��	�� ����	��� �		�
 	
����

	
� ��
�� ����	�
 �	 xi−1,xi,xi+1� �
� ���
��	�� ����	��� ��� ��
� i ��� �� ���� �� �����
���%� 	���	
�� ��	
 	
� ������ ��
 	�����	��� ���	���

xi+1

ni

xi−1

xi
τi

������ ��	
 ��� ������	
 ���
���� �� ��� �	�� ��	����� � ������ �	��	

���
��
��� �� ����� �� ��� ��	�� ���� ��������� xi−1,xi,xi+1� ���� �� ����

�� ��������� ��� ��	
�� �����	 ni ��� ��� ���������� �����	 τi�

�� ��
 	
� 
�����	���� hx, φgτ ��
 βτ �� ������� 	
� ����� �� h, φg ��
 β �� �		�
 	�
� ���
��	�� #��&������� �
�� 	
� 
�����	��� �� 	
�� ���
��	�� #��&������ �� ����
� �
�
������� ��� φgτ �� 	
�� ����� �� 

∂φg

∂τ
=

(
Δsi−1

Δsi(Δsi +Δsi−1)

)
φi+1
g −

(
Δsi−1 −Δsi
ΔsiΔsi−1

)
φi
g −
(

Δsi
Δsi−1(Δsi +Δsi−1)

)
φi−1
g

= oiφ
i−1
g +miφ

i
g + qiφ

i+1
g .

����'�
�
� ���� ������� �� ���
 ��� hx ��
 βτ � �
�� ��
��� ��
���� 	� 	
� ���	��� 
�������� ��
���
�
�� Δsi = Δsi−1� �
� �##��(���	���� �� 	
� 	���� n2 + n1

∂h
∂x

��
 τ2 + τ1
∂h
∂x

�� ����	���



�� �������	
 ����
 �
 ��� �
������ 	�� 	������	�� ��	���

������ ��	 
��	� di �
� ei� 
��� ���

n2 + n1
∂h

∂x
≈ di ������

τ2 + τ1
∂h

∂x
≈ ei. ������


�	
 � �����	���	� ���� �� 	������
 ������ �� 
��	 i �	����

σi =

[
ai
di

− ρg
ρ

eioi
di

]
φi−1
g +

[
bi
di

− ρg
ρ

eimi

di

]
φi
g +

[
ci
di

− ρg
ρ

eiqi
di

]
φi+1
g

− eioi
di

βi−1 − eimi

di
βi − eiqi

di
βi+1

= âiφ
i−1
g + b̂iφ

i
g + ĉiφ

i+1
g + ŵi.

������

��� 
��	 i = 1 ��	 ��	����	 �� �
� 
 �
� �	
�	 φg ��
 !	 ��	��	� ��� ��� �
 ���	 ���
"
	������
 ����#�� 
�	
 φg �� �
� 
 �� 
��	 � �
� ��
 �	
�	 !	 �
�	��	� �
 ��	 	������
 ����$�
 �	
 i = 2� %� 
��	 i = Nf � ��	 ���!�
	� ���� ��
�	�&����
 	������
 ��� ��	 ��� �� ����'	�
�
� "�&	
 !( 	������
 ������� )
 ���� 	������
 (hφgx)x �� �����	���	� ���
" 	������
 ����$��

��� �� �����!'	 ��
�	 � "���� 
��	 �� ��	 '	�� �� 
��	 Nf �� �
������	�� 
��� "���� 
��	 ��
�	�	��	� �� �� 
��	 
��!	� Nf + 1 �
� �� �		
 �
 *"��	 ���� 
�	 !��
���( ��
�����
 �� ��	
��� �����
 �� x = −L/2� ���� ��� φgx = 0 �� �����	���	� ���
" � �	
���' ��+	�	
�	 ��	
��'�


��� '	��� �� φ
Nf−1
g = φ

Nf+1
g  ���� �� �
�	��	� �
�� 	������
 ����$�  �	
 i = Nf � 
�	 
����'

�
� ��
"	
���' &	���� �����
	
�� �
 	������
 ������ ��	 �	� 	���' �� ��	 
����' �
� ��	
��
"	
���' &	���� �� ��	 �'��	�� ��		 ������	 	'	�	
�� βτ �
 	������
 ������ �� �����	���	� ���
"
� *��� ���	� ��+	�	
�	 ��	
��' ���
" �
��������
 �
 
��	 Nf �
� Nf − 1� 
�	 �����	���	�
&	����
 �� 	������
 ������ �� ��	
 "�&	
 ���

σNf
= − τ2

n2

(
βNf

− βNf−1

ΔsNf−1

)
+

(aNf
+ cNf

)

n2

φ
Nf−1
g +

bNf

n2

φ
Nf
g . ������

,��	� �
 ������ �
� ������ ��	 �	'����
 !	� 		
 σ �
� φg �� 	-��	��	� �
 �����- 
������
 ��
��''� ��

{σf} = [Ag]{φg} − {bg}. ������

)
 �������
 ��	 �	'����
 β = φ − (ρg/ρ)φg �� �
� 
 ���� ��	 �(
���� ��		 ������	 ��
�����

����$�� .����	
 �
 �����- 
������
 �� �	����

{φf} = {βf}+ ρg
ρ
{φg}. ������


�	 	������
 �(��	� ������ �	��	�	
�� ���� ��
�	�&����
 �
 ��	 ��� �����
� )
�	���
" ����
	������
 �(��	� �
� ��	 �	'����
 ������ �
�� ��	 	������
 �	��	�	
��
" ���� ��
�	�&����
 ���
��	  ��	� ����#� �
� �����
" �
�
� 
� &����!'	� �� ��	 '	�� �
� �
� 
 &����!'	� �� ��	 ��"��
��	 ��''� �
" 	������
 �(��	� �� �!���
	��

[A]{χ} = {b}. ����/�



���� ��� ����	
��
 ������ ��

������

[A] =

⎡
⎣ {H1} [Hf ][Ag]− ρg

ρ
[Gf ] −[Gs]

⎤
⎦ , {χ} =

⎧⎨
⎩

σ1

φg

φs

⎫⎬
⎭

{b} =

⎧⎨
⎩ [Hf ]{bg} − [Hs]{σs}+ [Gf ]{βf}+ {G1}φ1

⎫⎬
⎭ .

���� �� 	�� 
��
��� ���� 
�������	��� ����	��� ���	�� ��� 	�� ��� ��� 	�� ��	�� ��� �� ��
	��� ���� ������ �� ����� � ����
	 ��	����

����� ��� ��	� �
����
���
 ���������

��� 	��� ��	����	��� �� 
�������� ����� 	�� ��
��
�	 ����	� ����� ��������		� ��	��� ��
�
�
� �� �� �����!�� "#$%� ��� ����	���� 
��	������ � 	��� ������	��� �� 	�� ��	����	�
��

������ & ���� '�#( ��� 	�� ����	���� &'�)*(+ &'�),(+ &'�)-( ��� &'�$(� ��� 	��� ������	���
�� 	���� ����	���� ��� 
����
	�� �� 	�� ��
	�� ψ = {βf , φ1, φg1, ζ}� ��� ����	 ���� ���� ��
	���� ����	���� ��� 
����
	�� �� 	�� ��
	�� f �

��������� .� 	��	 ψ′ = f(t, ψ, χ)+ ����� 	��
�
��	��
�� ����	�� 	��� ������	���� /� ψ ��� χ ��� ����� 	��� ��� 	�� ��������� φ+ φg+ φx+φy+
ζx 
�� �� ����� ��� ���
� f 
�� �� ������	��� ��� 
��
������ ��� ��	������ φ+ σ+ φx+φy+ ζx
���� ψ ��� χ ��� ��
������ ���	� 0���� 	�� ���� �����
�+ φ �� ����� �� ����� ����	��� &'�$$(
����� σ �� 	�� ���� �����
� �� ��	����� ���� &'�$'(� ��� ����
�	� 
��
����	� φx ��� φy ���
����� �� ��
��
����� σ ��� 	�� 	�����	��� ����
�	� 
��
����	 φτ � �� �� 	��� 	�� ������
��
	�� n ��� 	�� 	�����	��� ��
	�� τ �� ������� ����� 
�����	��� ��� 
��
���	�� �� 	�� ����
��� �� �� 
����
	��� ��	� 	�� ����	���� &'�#)( ��� &'�##(�

u

ns

nf|σs|

|σf |

������ ��	
 ����������	
 	� ��
 ��	 �	�
���� 
�
�

�� �	


���
� ��


��

 ������
 �
� ��
 ��������
�

1������+ ����  ����� φx ��� φy �	 	�� ����� �� 	�� ���� �� 	�� ���� �����
� 	�� ���������
�� 	�� �������� 
����	��� �� 	�� ����� �� ��
���	�� �� 	�� ������ ��
������ �� ����!���
"#*%� ���� ��	��� ������ � 2× 2 ����	��� ���	�� ��� u = [u, v] ����� ���{

σs

σf

}
=

{
u · ns

u · nf

}
&'�$-(



�� ��������	 �
��	 
� 
�� �	
����� ��� ���������� �
����

��� ����� �	 ���� �
����
	 ��� ����������� �	 ����� ���� ���� σs �� ��� ���� ���
���� �
��
	�	�
	
���� �
 ��� ���� �����	� �	� σf �� ��� ���� ���
���� �
��
	�	� 	
���� �
 ��� ���� �������
�����	�� �������� u �� ��� ���� ���
���� ����
� ���� �
��
	�	�� �	 ��� � �	� � �������
	�
��	����� ns �	� nf �� ��� �
�����
	��	� 	
���� ����
� 
	 ��� ���� �	� 
	 ��� ���� �����	��
!
����
	 "��#$% �� ��
 �
����
	� ����� ��	 &� �
���� �
 
&���	 u = [u, v] �
� ��� 	
��� 
	
��� ���� ������� �	��������	� ��� ������ φτ �� ���������� ���	� ��� ���� ����
� �� �
� φgτ �	
"���'%� (� ��� �	� 	
��� 
	� ����� �	��� ��)���	��� ��� ����� ζx �� 
&���	�� &� ��� ����
����
� �� φgτ �	 �
����
	 "���'% *��� �����	��	� Δs ���� Δx� (� ��� �	� 	
��� 
	� �����
�	��� ��)���	��� ��� �����

+
�� ��� ��������
	 
� f &���� 
	 ��� ,	
������ 
� ψ �	� χ ��� &��	 ������	��� ���
�
���� 
���� -�	�� .���� ����
� ������� �
 ��� �����	� ��
&��� �� ������	 �	 ����� ��$� ���

���� ��
����
�
� ��
�������

�
� n = 1..N

k1 = Δtf(tn, ψn, χn)

k2 = Δtf(tn +
1
2
Δt, ψn +

1
2
k1, [A]

−1b(ψn +
1
2
k1))

k3 = Δtf(tn +
1
2
Δt, ψn +

1
2
k2, [A]

−1b(ψn +
1
2
k2))

k4 = Δtf(tn +Δt, ψn + k3, [A]
−1b(ψn + k3))

tn+1 = tn +Δt

ψn+1 = ψn + 1
6
(k1 + 2k2 + 2k3 + k4)

-�������	�

χn+1 = [A]−1b(ψn+1)
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&���	 ��� �����&��� k1, k2, k3, k4�
���� ������� �
���	� ��� �
����
	 ������ "��#�% �
�� ����� ��� ���� ����� ��� ��������	� ��
����
���� &��
�� 
&���	�	� χn+1�

����� ��������	� 
� �
� ���� �������

/	 ��� ���� �	�������
	 ��
������ �	 ����� ��$ ��������	� �� ����
����� ���� �� 	��������
���	 �
���	� � ��
&��� �	 ��� ����� 	
	��	��� ����� ����� ��� ���� ������� �� ��&*����� �

����� ���
�����
	�� /	 ���� �
�, ��������	� �� ����
���� �	 ��� ���� ��� �� �����	��� &�
0�	 12'3� ������ ��4 ��
�� � �����	� 
� ��� ���� ������� &��
�� �	� ����� ��������	�� +��
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����� ��������	 
�� �
� �������� �� ������ � ����� 	����� �������� �� ��� ��� ����	 
��� ��
��� 	��� ��� �����	 �� ��� ��
����� β �� ��� ��� ����	 �
� ��	� ������ ��
� ���	 �
�����
�
�	 	����
���� �� ��
�� 	���	�

 � !�
	� � ����� 	����� 
��
�	�������� �� ��� �
�� 	�
���� ������
� �	 ���� ��	�� �� ���
��� ����� ��������	 (x���, y���)� �� ���	 ��� � ����
�� ����� �� ��� �
�� 	�
���� (x, y)
�	 �"�
�		�� �	 � �������� �� ��� ����� �
� ������ ����� ��� �
�� 	�
���� sc� #���
�	 (x(sc), y(sc))� �� ��� 	��� ��� ��� �������� ��������� �� ��� ��� ����� ��������	
φ(x���, y���) �	 �"�
�		�� �	 � ����� 	����� �������� �� ��
�	 �� ��� ����� �
� ������
sc� #��	 ����	 ���� φ �� � ��
���� �������� sc ����� ��� �
�� 	�
���� ��� �� ����� ��
���������� ��� ����� 	����� �� ���	 ��������� #��� �	 φ(sc)�

$� #��� ��� ����� ��������	 �
� ����� ��	�� �� ��� ������� �� ��	� ���	��� ��������	�
#�� 
�	��� �	 �� �

�� �� ��� ����� ��������	 sc�	��

%� #�� ����� 	����� 
��
�	�������� �	 �	�� �� ��� ��� ����� ��������	 x�	�(sc�	�), y�	�(sc�	�)
��� �����	 �� ��� �������� ��������� �� ��� ��� ����� ��	�����	 φ(sc�	�)�

&�� ����� ��	�����	 sc �
� ������ �� ����� $ ������ �� ��� �
�	��� ��
' ��� ������� ��
��	� ���	��� ��������	 �
� �	�� �	 �"������� �� #������� ($)*� !�
 ��� 	��	���� 	���� ���
�
�� �	�� ��	 �����
� ����� ��� ��
��
	 �� ��� ������� #�� �
�����
� �� ��'��� ��� �

��
�� ��� ����� ��������	 sc�	� �	 	����� �� ���	 ��	�� +	 ��� ���� ���
�����	 ��� 
��� �� �	
����		�
� �� 
�	���� ��� ����
������ �,��� ������� ��� ����
 ��� ��� 
���� #�� �
�� �	 ����

����� �� ��� ���� �
�	�� -������ ���	��� ��������	 �	 �	�� �� �
���� � �
�� ����� �	 
�����
����
�	 ��� ���� �
�	�� +� ������� ���	��� �������� f(sc) �	 ������ �� �� ��� �����
 ��
�������	 ��
 ���� ������ �� ��� ������
�� #�� ������� ������ �������� g(sc) �	 ��� ����
	�
�� ���� ��� �	 ��� ������� ������ ��������� .��� ���	� ��������	 �
� ���������	� + 	�����
�
��	����� �� ��� ������� 	��� ��� �� �������� �� ����	��� � �����
 �������� ��
 ��� �������
������ �������� g(sc) = asc+ b� #�� �������� �� ��� ����� �����	 ��� �� ����� �	 ��� �����
��
�� ��� ��

�	������� ������� ���	��� �������� �	 ������	/∫ sci

0

1

asc + b
dsc = i i = 1...N. 
%�0)�

��
�

a =
g(l)− g(0)

l
, b = g(0). 
%�01�
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N ������� ��� ��	
�� �� �
�	���� �
��� ��� ���	���� ��� �������
 �� ��
��� ����� ���
���

sci =
(eai − 1)b

a
������

���� ���������� ������ 
� ���� ���� a = 0 ����� �� ��� � ���

�	 ����� � ���� ���� ��������
�
�	��� ������� �
��� ��� 
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������ ������
� g(sc) ������ ��� �������	� �����
 ������� ������ ������
�

�
������

��������# ���
� ��� ����� �
�� ����� � ��������� 
����� 	��� ��������� ��� 
����� 	����� ��

���� ���� ���� 	���

��� ��� ���$������ ����� �� ��� ���%�� & �� ������� ��' �� �� �� ���
���� ���% �� �� ���������� ��� �����

��� ���� �	���

��� 
�������$�
�	���$ ����$��(������ 	����� ��� ���
��� �� � ���� ���� ���������� �� �

����� �������� ����� ��� ���
�����
 ��
����� ��� ���� ���� �� ����� �� �������� )� ���
���
�����
 ��
����� �� ����� ��� 
��� ��� ����� ��� ��� ���# ����� ��� ��� ��� �������� ����
��� ������ ���� �� ����� � ���$����� ���

�	� ��� �������� ���� �������� �� ���  ��� 	���
�� �
������� �� �
���� ��� ������
 	���� � 
��������� 	����	�����
 ���

�	 �� ��
��� ����
��� ���� �
������� �� ���� ������� �� ζ(t, x) = −ζa sin(ω1t) cos (π(x+ L/2)/L)� ���� ���
���
�����
 ��
����� ��� φg �� ����� ��

φg =
ζaω1

h1

(
L

π

)2

cos (π(x+ L/2)/L) cos (ω1t). ���'*�

+��� ω1 �� ���  ��� ������
 ���"����� �� ��� �
������ 	������ ���� ��

ω2
1 =

ρgh1

(ρg − ρC1)

(
π

L

)2

����� C1 = − πh1

L tanh

(
πH
L

) . ���',�
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��� ���� ���	
��
� ζa� ��� ����� 
���
�� ρ ��
 ��� �
� 
���
�� ρg ���� ��� ����	 �� 0.01[�]�
1000[����3] ��
 1.2[����3]� �������
��	�� ��� ���� 

����
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��� 
� ����� ��� ��� ���
 �
��
��� ��		��
�� ��

����
���� ��� ���� ������� ���

�
��� 
� ��� �����
��	 �����
��� ����
	
����
��
 
� ��� ���� ��� �� ��� ���	��
��	 ��	��
��� �	�� ��� ����
��� �	������ ���� ���
�� ��� ���� ���� ������� ��
 ����� �� ����



�� ��� ����
��
�

� ����������� ���� �� ��� ����
�	 ����	�� 
� �����
��  ��!"# ��� ���� ��������
 ��
��
��� ���	��
��	 ��	��
�� ��� t = 0� ���� {βf} φ1� φ ��
 {σs} ���� ��� ���	��
��	 ��	��
��
���� 
������
 
��� ��� �
��� ���
 �

� �� ��� �����
�� ������  ��!"#� ���� ��
� �����
��
������ ��� ��	��
 �� ����
� σ1� {φg} ��
 {φs}� $
�� 
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 �� ����� ����� �� ��� 
���
��
��� ����	�� �� ��� ����������� ���� ��� ���� 
� ����� ��+� ,� ��� 	��� �	�� ��� �
� ��	��
��
������
�	 φg 
� �	����
 ��� Nf = 20� ,� ��� �
��� ���
 �

� �� ����� ��+ � ����������� ���
�
�� ��� �������� 
� ��� ����� ������� �� ��� ����� 
���
�� σ1 ��
 φgNf
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�
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���
 ����
��
�������
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 �������������� �� ��� ������
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�����
 �� ��� ����
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� ���� �
 L = 10�2
��� "����� ������ H = 0.8330�2� ��� ����
 ��
 �
�
� ����
� ���� �
 ρ = 1000[ �'�3] ���
������
����� �� �
�	��� ��
 
�� �� g = 9.81[�'
2]� ��� ���������� 
����� �
�� ��
4

η1(t) = ηa1(1− cos(σt))). )#���.
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∂φ

∂t
= −p

ρ
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���� p �	 �
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������ ���		��� ��
 ρ �	 �
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��	��� �� �
� �����
� �
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��� ��� � �� �
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 ����� �� �
� ��� ������ �	 ����� �� �
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����� �� −b �� x ����� �� !���� �
�	 ����
	 �
� ��������� ���������

dΩ

dt
= V (t)a[K(b/a)− E(b/a)]−

(
φap + aV (t)E(

√
(1− (b/a)2)

)
K(b/a)

K(
√

(1− (b/a)2)
. ���"�

���� K(k) ��
 E(k) ��� �
� �������� �������� ��������	 �� �
� #�	� ��
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 ���
� ��	���$
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���� ��
 &�!
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K(k) =

∫ 1

0

1√
(1− x2)(1− k2x2)

dx

E(k) =

∫ 1

0

√
1− k2t2√
1− t2

dt.
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dΩρg
dt

= ρg0(Qin −Qout) = −0.61ρg0AL	���(p)

√
2|p|
ρg0

. ���)�
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�� �
� ���������  ������� V ��
 �
� �����
 �����
 ���������	 a
��
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� '0*� �
� ������� ��������� ��
�
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√(
κp0
Ω0ρ

)
K(b/a)

K(
√
1− (b/a)2)
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Ωρg = Ω0ρg0 �� t = 0.

�����

� 	
���
 
���� ����������� ���

� �� ���� 	
� ���� ���������
� 
	 �
� ������
��� �
��
���������� 
	 �
� �
��� ��� 	
��� 	�
� ����������� �� 
���� �
 ����� �� �
 �
� ��� �
����

��������
� ������  
��� ���������� ��� �
� !����� �����
 ���������� a(t), b(t)" �
� �������
#
���� 
	 �
� ��� �
���� Ω0 ��� �
� ������ #��
���� V (t)� a ��� b ��� ��������� 	�
�
�
� ������������ �������� 
	 ��� �
���� � ����� 	�
� �$
#� �%� &� ��� ��� ��
���� �� �
	�����
� 
	 ���� �� '���� ��&�  
� !����� �����
� 
	 �
� �

	 #��� �� �
� z��������
� ��� �

�
�����������
��� �(����� )�
� �
� ������������ �������� �� '���� &�&&" �
� !����� �����
 ��
#������ ��$���������� $�	
�� �
� '��� �������� �������� *������ 
	 �
�� �
� !����� �����

���������� a ��� b ��� ��������� �� �
� '��� �������� ����� +� �� ������� �
 #��� ��������
!��
 ���� $�	
�� �
�� ���� ��������  
� ������� #����� b(t = 0), a(t = 0)" ��� ��������� ��� �

�
� �
�����������
��� ��
���� 
	 �
� ��� �
����� ,��� a(t = 0) − b(t = 0) �� ��� �
 - .��/�
�	��� �
� '��� �������� ����" �
� !����� �����
 ���������� ��� !��� ��'����  
� !�����
�����
 ���������� a ��� b ��� ��
���� �� '���� ��&�  
� !���� ���� ����� �� �
�����������
���
������� �
 ����� #������
� 
	 a ��� b �� �
� z��������
� 
	 �
� ����� ,���� �� �� 
��� �
 ��������
�
� !����� �����
� ����� � ������ #������
� 
	 a ��� b !��
 ���� �� ������� �� �
� ����� !
���
�
� !����� �����
 �� #������ � �
� �� �
� z��������
��  
� ������� #
���� 
	 ��� �
���� � !��
�� �
� ������������ �
����� ��������� �
 $� Ω0 = 810[��2]" ��� �
� ������� 0
! #��
���� !��
��������� �
 $� V0 = 0.395[�1�]�  
� ��������������� ���

� ���2� ������� � ���� #������



��� ������	�
���
�
 ����
 �� ��� ��� ��
��� ��
�

����	 �����

0 50 100 150 200
−15

−10

−5

0

5

10

15

20

t [ms]

p 
[k

P
a]

SAM AP 6 (d=0 [mm])

������ ��	
 ��� ������	�
���
�
 ������ ����� ��� ��� ��
��� � ���	 ���
��
� �	 ��� ���� �� 

���� d = 0����� ��� ��� ���� 	�� 
������ ��� �����


��
�� ���	� ����� ���  ��� �������� ��	���� �!������ �	 ��� �"������	���

�������� ���	
���� 
�� ����	��� �������	� �� ��
������ �� ���� 
���� ��������� ��� 
��	���
��� ������� ���� ��� ���� �������	� 	� ��� ���	
��� ��� ������ ���� �� V = V0 + V1t� ���� �� ��
������� ���� ��� �����
�� �	����	� 	� ��� ���� �����
��� ��� �	�� �� ��� ���� ��	��� ������
�	 ��� ������� �	����	� �� ��� ��� 	� ��� �������� ����� �����

∫ t��
0

V (t)dt = 0� ����� ����
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+M2(γ − 1)

∂p̂

∂t̂
. � �./�

*��� Pe 
� �
� 01���� ������ 	����	 ��-

Pe =
D1

h2
0ω0

, � �.,�

��	 M 
� �
� 2��
 ������ ��
���� 
� ����� �� �
� ������� ���'������ �
� �

�"���� �� �
�



���� ����� �	 
����
� ��
����� ������ ���

��� �����	 h0 �
� 	�� 
���� �� 
��
� c0� 	��	 �
�

M =
ω0h0

c0
. ������

��� ����	����� ����
�
	 �
� 	�� �����
� ��	�� �
 ����� ��� �
� ��� �
 �
�� ����
��
	 �

�
� ������	�� h0/δT  ���� ����
 �
 �
�� ����
��
	 �
 	�� !"���	 
��#���

h0

δT
=

√
2

Pe
. ������
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�  �	��� ��� �	��� 	��� 
���� �
 ��
	 �
� ��� 	� 	�� ,� ���� �� 	�� ���
�	�
� ���
�����	� -
 �����	� 	����  ��� #� �
 �
	����	��
 �%��	 #�	 ��
 	��
� 	 � ,� ����
  ����
 ��� �%��	 	�� �����
� ���
�� #� 	�� *�
���
 #��
���� �����
� ���
 �%��	 ����� ��*� #��

�������� #� ������
� � 	����&����

��
�� #��
���� �����
	 ��	���  �	� � 	 �&����

��
��
#��
���� ����� ����� �
 ��
���#�� #� '��	�

�
 �
� ������� ./0�

(��� � 
�������� �������� �
 ����� �� #� �

���
� ���� �
�����	��

 �� 	�� ��� �����	
�
�����	��

� ��
��� 	�� �
	����	��
 �%��	 #�	 ��
 	�� 
�� �� *����
� ,� ���� �� 	�� �
	���
�
 �	�� �
� 	�� �
�����	��� ,� ���� ��� 	� 	�� ��� �����	 �
�����	��

 ��� 
�����	��� ���
�������	��
 �
 ��������� �
 � 
������ ��
���
 �
 1������
2
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 	�� ��� �����	� ��� *�����	�
���� �� 	�� 
���&�
���	���� ��	��� ��� 	� 	�� ���� �
�����	��

 �� �
 ��� �����	 �
 ��*�
 #�
'��	�

�
 �
� ������� ./0 �
�

u− iv =
iA cos (ω0t + ε)√
(z2 − a2)(z2 − b2)

����7�



��� ��������	
����	 �
��	 
� ��� ��� �
���� 
���		���
� �����

�� ���� ��	
������ i =
√−1� z = x + iy 
�� A �� 
 �����
��� ��� ���
���
�� ������ ���� ��

��� �
�� 
� �� ���
� ���� ��� �������� ���
���� �
�� ����� �� ���� 
� ��� �������� �������
��� �����

� �
��
�� �� ������

�� ��� �����

� �
��
� �� ��� ��!�
��� "
��� ��� ���
���
��
������ 
�� ��� �
�# �� �

"� �� ���
� ��$� �� ���
�� ��� �������� ���� 
� 
 	���� (x, y) �
��

������ ��	
 � ������� 	
 ��
 ���� �������

��� ��
 �		������
 ����
� ��
� �� ��
 �
���

���������� �
��	�� ��
 ���� ��� ���
����

���
���	�� L=1000[��]� D=100[��] ���

Htot=980[��]�

y

z

x

Htot

L
D

�%�
���� ����� �� ����� �� �� ��
��
��� 
� ��	�
���� �� &
������� 
�� ����#�
 '$(� ���
���
�� ������� �� ��� 
�
 	��#�� ������
����� �� �%�
� �� ��� 
�	������ �� ��� #������ ���
��
�� ��� ��%���� "���� �
� �� ����� �� ��)

ρ

2

∫
Q

∇φ · ∇φdQ =
ρ

2

∫
Q

∇ · (φ∇φ)dQ

=
ρ

2

∫
Sap

n · (φ∇φ)dS

=
ρD

2
φap

∫ 0

−b

vdx.

����� 

*�
� Sap �� ��� 

�
 �� ��� �
�� ��
�
�� ��"

�� ��� 
�
 	��#��� ��� ����

��+�� ,
��� ����
��

� ����� �� &
������� 
�� ����#�
 '$( �� ���� �� �

����
� ��� ������ �����

� �� ��� �
�� ����
�� 
 ��
�
�� �����

� �� ��� ������ ����� -��
��� �� ��� �����

� ���������� �� ��� 	
�����
���� ��� ��
�
�� �����

� ������ ��� 
�
 	��#�� ����
������� ��� �������� 	������
� φap 
��
��� ��
���
� ���	����� �� ��� �������� v 
� ��� ��
�
�� Sap �
� 
���
���� �� &
������� 
��
����#�
 '$( �� "
����� 
�)

φap =
A cos (ω0t+ ε)

a
K(

√
1− (b/a)2) ����. 


��

v =
A cos (ω0t + ε)√
(a2 − x2)(b2 − x2)

. ����/ 

��� 
�	������ �� ��� #������ ���
�� �� �%�
� �� ��� ���
� 
����� �� ���
�� �� ��� ������ 
��
�
� ����� �� "
����� 
�)

Ek =
ρ

2

A2

a
K[

√
1− (b/a)2]I1D. ����$ 



���� ����� �	 
����
� ��
����� ������ ���

���� I1 �� ��� ����	�
�

I1 =

∫ 0

−b

[
1√

(a2 − x2)(b2 − x2)

]
dx. �
����

��� ������
���� ���� ��� �����
�� �
���� �� ��� �������� ������ �
�� ����
��� 
�� ����������
����� ��� �
�� 
�� ��� �������
�� ������ ���� �� �������
��� ��  	��� 
�!� "���� ��� ����#

�
�����
� ������ ���� ��� �
����� ��� �����
�� ���������� �� ��� �
�� ������ 
�� ��� y−z
�
�
���� �
�� 
� x = −L$ ��� %������ �����
�� �
���� ����� 
�� ��	������� ��� �
��� ��������

�� ��� ������� y − z �
�
���� �
�� 
� x = 0$ ��� �
�	� ����� 
�� �
�� �
��� �
�
���� �� ���
x − y ��
�� 
�� ��� ���� �� ��� �
��� &��� "����� ' ��� �������$ ��� ��������	 �(�
����
���������� ��� 
%��
	� %������ ����	� ������
���� ��� ��� ������ �� ������
���� ��� ���� 
��
)

Ėvd = −μ

2

√
ω0

2ν
V 2
0 (x). �
�*+�

���� μ 
�� ν 
�� ��� ���
��� 
�� �����
��� %�������� ���,������$ ��������%���� V0(x) �� ���
%������� �� ��� -��� ������� ��� �����
�� �
��� 
�� �
� �� ����� ���� �
��*� �� �%
��
���

� �� &
������� 
�� ������
 .!/ �� ��� �������� �
���� &���� ��� y − z �
�
���� ���� �
�� 
�
x = 0 �� 
�
������ ��� ��� �
�� �� ����	� ������
���� ���� ���� �
�� ��)

Ėvd1 = −DA2μ

2

√
ω0

2ν
I2. �
�*0�

����

I2 =

∫ 0

−Htot

[
1

(a2 + y2)(b2 + y2)

]
dy. �
�*'�

&�� ��� �� ��� ��
��� �
�
���� �� ��� x− y ��
�� ��� ����	� ������
���� �
� �� ������� 
�)

Ėvd2 = −A2μ

2

√
ω0

2ν
I3. �
�*��

����)

I3 =

∫ 0

−L

∫ 0

−Htot

[
1√

[(x− a)2 + y2][(x+ a)2 + y2][(x− b)2 + y2][(x+ b)2 + y2]

]
dxdy. �
�**�

��� ����	� ������
���� ���� ��� ������ �
�� �� ��� ���� ��� −a ≤ x ≤ −b �� 	�%�� 
�)

Ėvd3 = −DA2μ

2

√
ω0

2ν
I4. �
�*
�

����

I4 =

∫ −b−δ

−a+δ

[
1

(a2 − x2)(x2 − b2)

]
dx. �
�*1�

2� ��� ����	�
���� �� ��������� ���� x = −a �� x = −b$ ��� ����	�
� �� ���	��
� 
�� ������
�� ������ �
�	� �
����	 �
���� ���� �� ���#������
� 
�� �� ���
��� �� ��� �
�� ��
� ��� �
��#
��
���
� ����� ���� ��� ��������� ��� ��
� -�� 
����� x = −a 
�� x = −b� �� 
%��� ����
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� ��� ��� �
���� 
���		���
� �����

������� �	� 
��
 ����� �� a 

� b 
�� 
�� �
������ �
 �	� �
����
���
 �� �
�������
� �	� δ
�
 �	� �
����
���
� �	��� �� 
�������� ���
��� �� �	� ����

�� δ� ���� �	� ���
�
�� �
���
�	���
��� 
� ���
�� �� �
���
��
 

� �����	
 ��� �� ����� �	�� �� ���
�� 
�

δ = 4.6

√
2ν

ω0
. ����� 
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 �	� ���"���� ����"
���
 �	� 
�������� �# �	� ������
���
� $
� 
������ ��
��

� �
 ����
��
�� 
� �
���
� $
� �����
� �
 �	� �
�	��
���
� �������� ���� 	��� �
 
 ����	� 
��������
�	

�� �� 
���$��% �
��� �
 �	� 
��������
 �	
� �	� 
�������� ��������
 ��� ������ �� ��
���
���� �	� �&������
�� �
 �	
���� ' �	�� �� 
�� �
������ ������� ��
�� �	� �����"�� ���
� �#
�	� ������
���
� �� �
��� ����
� �	� ���� #��� �	� ���� �������� �
&���� �� �	� ���� ��������
��
����� ���� �	� ������� �# �	� �����
� ��&�� (�����

)*
��

��

 ���	�� 

� �������
#��� �	� ����)


�����
� ���	�� ��"�
 �� �
���
��
 

� �����	
 ��� �� $
� ���
 �	
� �	�
������ �# �	�� ���
� $
� �# 
�
��
�
� �����
� �	� 
�
��
�
���� �� �
�
�� ��� �� �	� ���������
�
�	

�� �# �	� 
�� ������� +#��� �	� ���� ������ �# ������
���
 �	� �	

�� �# 
�������� �"��
�
� ������ �

 �� 
������ ��
��� �	� 
�������� �# 
 #����� ������
��
�% �
���)�
���� �
��)
����
� ������ ���
�� �&��
�
��
���� +�����
� �	
� �	� �������� 
�������� P (t) ��	
"�� �

�	�� �


�� �	�


P

P1
= e−αt/T0 . ����� 

���� �	� �������� 
�������� P �

 �� ���
��� �� �	� "������� ����
��
� ��
�� p = −ρ∂φap/∂t�
,��
� �-�
���
 ���./ �� �� �"���
� �	
� P/P1 = A/A1� ���� �	� �&�������
� #�� �	� �
���
�
�� #����$� �	
�0

Ek

Ek1
=

(
A

A1

)2

= e−2αt/T0 . ����1 

�
��
� �	� ���� ����"
��"� �# �	�� �-�
���
 ������� �
 

 �-�
���
 #�� α �
��� �
 �	� ����"��
�
���� �&�������
�% �	�
0

α = −1

2

T0

∑
Ėvd

Ek1

. ����2 

���� �	� �
�$
 �������
 �# 
 �
���� �
��)����
� ������% α �

 �� ���
��� �� �	� �
���
�
�
��� ξvd 
�0

ξvd =
α

2π
. ����3 

�	� �
���
� �
��� ξvd �� $�����
 
� 
 ��� �# �	� ��
��������
� #��� �	� ��4���
� $
��� �
 �	�
#����$�
� $
�

ξvd = ξvd1 + ξvd2 + ξvd3. ����' 

���� ξvd1 % ξvd2 

� ξvd3 
�� �	� ��
��������
� �� �	� �
���
� �
��� #��� �	� ���� $
��
�y − z �
�
���� % �	� #��
� 

� �
�� $
�� �x− y �
�
���� 

� �# �	� ���#� �	�� 
�� ��"�
 
�0

ξvd1 = B1DI2, ξvd2 = 2B1I3, ξvd3 = B1DI4. ����. 

5	���

B1 =

√
ν

2ω0

(
a

2DI1K[
√

1− (b/a)2]

)
.
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�� �������� �	� 
���
�� ���
� �	� �
�����
� �
����
�� ν 
� ��� ����� �� 0.89 · 10−6[�2/�] ��

�	� 
���
�� 
� ��� ����� �� ρ = 997[��/�3] ���������

�� �� � ����������� �� T0 = 25◦��
�	� 
�
�
�� ������ �� �	� �
� ������ 
� ��� �� Ω0 = 810[��2] �����
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�������
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 ����� !���� ξvd1, ξvd2 ��
 ξvd3 ��� ���� 
� �	� ���� ���� 
� ����� ��"� �	� 
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ξvd1: side plate (y−z paral.)

ξvd2: front−back plates (x−y paral.)

ξvd3: roof plate (x−z paral.)
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	 ��� ������ ��	
�� ���������� a �	� b�

�����
���
��� ���� �	� ����� ��
 ���� !��� ��
 �	� ����� �	�� 
� ξvd2 ��
 ξvd3� ��� ���� ��

��
����� �	��� 
� �������
��� ������
 �� ξvd3� �	
� 
� 
�� �� �	� �
������ 
�������� #� �	�

���
�� �����
���
�� 
�� �� �	� ���� 
� ��������
� �� ���
���� �� �	� ��!�� ����
 �� �	�

���
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 �
� ���
�	
����
	������� p0p = 1.01 · 105#)�$� �
� ������� &
���� �� ��� �
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{
ξ
η

}
=

[
cos θ sin θ
− sin θ cos θ

]{
x
y

}
. "!��#

�$�



��� ������	
 ���
�	�� �� ��� ��� 	��������

����� ���� � ����	
����� �� ��� 
���������	 �	 ���������� ��� ��� ����������� �	 ����
��� I2i,j
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I2 =

∫
d log r

dn
dξ =

∫
d log r

dη
dξ

=

∫
d log r

dr

dr

dη
dξ = η

∫
1

ξ2 + η2
dξ

= arctan
ξ

η
+ C.

���� �� ���� ����
r =

√
ξ2 + η2. �����

��� I1 �������
 �	 	�
��� �	 ��

��	�

I1 =

∫
log rdξ =

∫
1 · log rdξ

= ξ log r −
∫

ξ
∂ log r

∂ξ
dξ ������
 �����������

= ξ log r −
∫

ξ2

ξ2 + η2
dξ

= ξ log r − ξ + η arctan
ξ

η
.

��� I3 �������
 �	 	�
��� �	 ��

��	�

I3 =

∫
ξ log rdξ

= ξ

∫
log rdξ −

∫ ∫
log rdξdξ ������
 �����������

= ξ

[
ξ log r − ξ + η arctan

ξ

η

]
−
∫ [

ξ log r − ξ + η arctan
ξ

η

]
dξ

=
r2

4
log r2 − ξ2

4
.

��� I4 �������
 �	 	�
��� �	 ��

��	�

I4 =

∫
ξ
∂ log r

∂η
dξ = η

∫
ξ

ξ2 + η2
=

η

2
log r2.

 ��� ��� ��� 
����	 ��� ������ ��� �������
	 
�� �� ������� �	�

I2i,j = arctan
ξ2
η
− arctan

ξ1
η

���!�

I1i,j =
1

2
[ξ2 log r

2
2 − ξ1 log r

2
1]− (ξ2 − ξ1) + ηI2i,j ���"�
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I3i,j =
1

4
[r22 log r

2
2 − r21 log r

2
1 − ξ22 + ξ21 ] �����

I4i,j =
η

2

[
log r22 − log r21

]
. �����
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∂2φ

∂x2
+

∂2φ

∂y2
= 0 
� ��� �
��
��  !�"#

∂2(ρφ− ρgφg)

∂t2
= −ρgφy 
� ��� ���� ��������  !�$#

dφ

dn
= 0 
� ��� ������  !�%#

h0
∂2φg

∂x2
= φy 
� ��� ����  !�&#

∂φg

∂x
= 0 
� x = ±L

2
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��� φg = iωeiωtϕg(x, y)� ���� 	
���
� �� � �	���
� ��	 ϕ, ϕg ����� �� ���
� ���

∂2ϕ

∂x2
+

∂2ϕ

∂y2
= 0 �� 
�
 ������� �����

(ρgϕg − ρϕ)ω2 = −ρgϕy �� 
�
 �	

 ��	���
� �����

dϕ

dn
= 0 �� 
�
 ������ �����

h0
∂2ϕg

∂x2
= ϕy �� 
�
 ���� ��� �

∂ϕg

∂x
= 0 �� x = ±L
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�

ϕ = Cm cos (πm(x+ L/2)/L)
cosh (πm(y +H)1/L)

cosh (πmH/L)
���!!�

ϕg = cos (πm(x+ L/2)/L). ���!#�
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� ��� �
 x = ±L/2 ��	 
�
 ���� ��
� �����
��� �� 
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�

Cm = − πmh0

L tanh

(
πmH
L

) . ���!'�

(���
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� 
�
 ��
�	�� �	
��
���
� ���

ω2
m =

ρgh0

(ρg − ρCm)

(
πm

L

)2

. ���!)�
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ζ(t, x) = −ζa sin(ω1t) cos (π(x+ L/2)/L)� +���
 ���& 
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��� ��!! ��� ��!# ��� �
 ��
��
,
 �����
 φ = R(t)ϕ ��� φg = Rg(t)ϕg � ��
� 
���
��� �� 	
���
� �� Rg(t) = R(t) ���

���
��� ��� 	
���
� ���

R(t) =
ζaω1

h0

(
L

π

)2

cos (ω1t). ���!-�
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��� ������	�����
����	��� ��� �	� 	��� � ����� ���� ������� �� �	����
������������� ���� 
���� ���� ��� ����� 	� ��� ��� �	� 	� ��� ����� �� ���������� ��� �����
���� ������� 
	��	� �� ����� �� h(x, t) = h0(x) − V0t� ���� h0(x) = h(x, t = 0)� ������� V0

�� �	������ ��� �	� � ������	� 	� ����� 	� ��
�� ��	
 ��� � 
��� �	��������	� ������	�
!"��#$� ��� �	��%	���� ���	���� ��� 
� �	��� ��&

ug(x, t) = − 1

h(x, t)

∫ x

0

∂h

∂t
dx =

V0x

h
. ! ��$

'���� ��� ���� ���� ∂h/∂t = −V0� (�����	� )�*+ ��	��� ���� ��� ������	�����
����	���

	
����
 ������	� ���������� ����	���� �� ��������� �	 ��� 	�����
����	��� ,����-� ������	��
���� ��� ����
�� �������� ��� 
� �	��� ��&

p(x, t) = ρg

∫ L

x

∂ug(x
′, t)

∂t
+ ug(x

′, t)
∂ug(x

′, t)
∂x′ ∂x′. ! �.$

��� ����������� 	� ug ��� ����� ��&
∂ug

∂t
=

V 2
0 x

h2

∂ug

∂x
=

V0

h
− V0x

h2

∂h

∂x
.

��� �	��	���� ��������� ��� ���� �	����&

I1 = ρg

∫ L

x

∂ug(x
′, t)

∂t
= ρgV

2
0

∫ L

x

x′

h2
dx′ ! �"$

���

I2 =
ρg
2

∫ L

x

∂u2
g

∂x
dx′ =

ρgU
2
0

2

[(
L

hL

)2

−
(
x

h

)2]
, ! �#$

�/0
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�� �������	
 ���� ugugx = .5∂(u2
g)/∂x
 ��� �������� ��	 ���	 �� ������	 ���

p(x, t) = I1 +
ρgV

2
0

2

(
L2

h2
L

− x2

h2

)
. ��
��
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 � 
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���� ���� ��
 ����
������� �
��� ��� �������� 
�
�����
��
������ �� ��� ���� � ������� !"#$% ��� ��������
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 ��� ��	���

���� ���
���
��������	��
����� ��������
 �
 ������� � ����!"&$'

∂ρg
∂t

+
∂(ρgug)

∂x
= −1

h

(
∂h

∂t
+ ug

∂h

∂x

)
ρg ()%*+

∂ρgug

∂t
+

∂(ρgu
2
g + p)

∂x
= −1

h

(
∂h

∂t
+ ug

∂h

∂x

)
ρgug ()%,+

∂E

∂t
+

∂ug(E + p)

∂x
= −1

h

(
∂h

∂t
+ ug

∂h

∂x

)
(E + p) ()%"+

-��� E = ρg(
1
2
u2
g+e)� ����� e �
 ��� 
����.� �������� ����� % ���
 �������� 
 
��	 �
 �������

�� � ��������������� ���������� 
 
��	 ��� �
 �� ��� 
��	'

∂U

∂t
+

∂F (U)

∂x
= S(U) ()%/+

�������� �
�
 � 
����������
��� 	����� (������� !"#$+ �� 
���� ���
� ��������
% ���

	����� .�
� .��
 � 
������� �
 ��� ��	�������
 �������� 
 
��	� ���� 	���
 S = 0 ��
�������� ()%/+% ��� ������	 
����� 
�� �
 ����'

∂U

∂t
+

∂F (U)

∂x
= 0 ()%0+

��� 
������� �
 ���
 �������� 
 
��	 �
 �
�� �
 ����� �� ��� ��1� 
���
���� ��� 
����� 
����
����� �������
 ��� 
������ ���������� ���� �
 Fx = 0'

∂U

∂t
= S(U) ()%2+

*03
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����

 ����
������ ���������� ��� ��������� �� ���
�������� ��� 
����� ���
����
���� ������ ���� ����������� �������� ������� ��� �� ������� 	�
 ��� ��� ������ �����
h(x, t) ���� ��� �����
 �� ��� ��	� ���� ���� �	 ��� ��������� ��� ! " ���#!� �� ����� ���� �
����������� ���$�
 ��� �� ������� �� ��� ����������� �
������ ��� ������� �	 ���� ���$�
 ���
�� 	���� �� %�$���� &#'(� �� ���$� ��� ���
�� ���� � ������ �
��
 )����"*���� ������ ��
�������� ��� ������� ��������� ������ ���� �� ������ ��
��� ���������� +�
���
 ������� �����
���� ������ ��� �� 	���� �� %�$���� &#'(�
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������ ��	
 ����������� 	
��
 �� 
�� �	������ ��� ���� �� ���������

��� ����� 	������� ��� ���� ������ M = 1.0 ��� 
�� ������� �����


h��� = 0.108[mm]� ��� ���� ������ �	 ���� ������ �	 M = u���
g /c0�

��� 
����	
 ���
	 	��� 
�� ���		��� ����� 
�� �������	
 ���
	 	��� 
��

�������
�� ��	 ������

� ��� ���
 ���� 	��� ���
 �	 � ���	� �� ���� �� 
��

	��������

� ���� ���� ���������� �	 	��� �� ���� �����	�

, ���$�
����� ����
 �	 ��� ���� �������� �� ������� #�- 	������� ��� �������� 	�
 ���
����
������� .�� ����� ����� �������
"�
�� ����$���
 �� ��� ��

����� ����� ���� ��� ���
������� ��� 	
�� ��
	��� ��� ��� 
��	 ���
������ ��
�� ��� ��
 $������
 �� � 	������� �	



���

��� x������	
��� ���
 ���
� � ��	�� �	�� 	
�����	
� �
��	����� ��
�� � ��
�����
�� �����
��� ����	�� ��� 	
 ����� �� ��� ��� ���� �	�� ����
��
�� �� �	����
� ������ �� ��� �	
����	�
�
����� �	����
� �
	���
 ��	�� ��	
� N = [3000, 6000, 12000] ����� ���
� ��� ��
��� �� ���
��
�	
 ��� ���� 	
 ��� 	
����	���	�
� ��� �����
����	���	������� ���� 
�
!�� 	
 ���
�	
����	�
 ��� ��� �� C��� = 0.9� ��� ��� ���!	�	�� ��	���	� ���
 �	
	�� ��� �	
� ���� �	��
�� Δt = C���Δx/u���g � ��� ������	
� �������� �
� �����	�� 	� ���
 	
 "���� #�$ ��� %���

�
!�� �&��� �� $�'� ��� %��� 
�
!�� 	� ���� ��"
�� �� M = u���g /c0� ��� ������� ���
���
 �� !� ��	� ����
��
� �� ��� ��� 
�������� ��	
�( ������� $)''' ��	� ����� ����� ���
�
�� !� ���	�������� ��� %*$�'� +� ��� �	
����	�
 ������ !� ��
�	
��� ������� ���
 M = 1.0
���
 
��� ��	� ����� ��� ��&�	����



��� ������	
�� 	
 ��� �	���������� ��� �	����



�������� �

	
����
� �� ������ ���
 ��������

�� ��� �����	
���	���
� 
	����� ������������ ����
�����
	� ���
��	� 	� ����	�� ��� ��� �����
���� ��� ����
�� �� �� ��	���
 	��	�� ��� �	� ������� ���� ��	� ����
��	�� 	� 	�����	�����
�� ������
	�� � ��
�
��� 
	���� ���
��	� ����� ��� �������� 	� ��� �����	���� �� �� ��	���

	��	�� ��� �	� ������� ����
	�� ������ ������ �����	�� �� ��� �� ��	���� ��!

ρg0cpiω0θ = iω0p+K1
∂2θ

∂y2
. "#�$%

&	����	�	�� ��� 	���
 ��� 
�� �	�
��!

ρ1 =
p

RT0

− ρg0
T0

θ. "#��%

���� ρ1 = ρg − ρg0� '�� 
	���� �����	�� �(�����	�� ���������	�� �� 
��� 	�!

iω0ρ1 + ρg0
∂v

∂y
= 0 "#�)%

*�� ��� ��
��	�� ������	�
 	� 	���������� ���� 	� p = −ρg0∂φ/∂t� ��� v = ∂φ/∂y� 	��� "#�)%
��� "#��%� '���� ��� �����	��� ��
�	��� ���� �	�
�!

ω2
0

RT0
φ+

∂2φ

∂y2
− iω0

T0
θ = 0 "#�+%

��������	�� ��� ��
��	�� ������	�
 	��� "#�$%� �	�
��!

ρg0cpiω0θ = ρg0ω
2
0φ+K1

∂2θ

∂y2
"#��%

'�� �������� ����	�	��� ��� �	��� ��!

∂φ

∂y
= 0 �� y = 0

−ρg0iω0φ = pliq �� y = −h0

θ = 0 �� y = −h0

θ = 0 �� y = 0

"#�,%

$,)



��� ������	� 
� ��
��� ���	 �
������

����� ����	
����
��
� �
�

���� θ = T0θ̂� y = h0ŷ� φ = ω0h
2
0φ̂ 
�	 p = ρg0ω

2
0h

2
0p̂ 
��


����	���	� ��
�� ��� ����� ���
�
��� ���� ����
�� ���� ��
� 
� D1 = K1/(ρg0cp)� 
�	

δT =
√

D1/(2ω0) ���
�
�� ��� ! 
�	 ����! �
� �� ��
���� 
�"

ρg0ω
2
0h

2
0

p0
φ̂+

∂2φ̂

∂ŷ2
− iθ̂ = 0 ���#!

iθ̂ =

(
γ − 1

γ

)(
ρg0ω

2
0h

2
0

p0

)
φ̂+ 2

(
δT
h0

)2
∂2θ̂

∂ŷ2
���$!

%���	
�& ���	
�
��� 
� ����	
����
��
� ���� 
�� �
��� 
�"

∂φ̂

∂ŷ
= 0 �� ŷ = 0

−iφ̂ = p̂liq �� ŷ = −1

θ̂ = 0 �� ŷ = −1

θ̂ = 0 �� ŷ = 0.

���'!

(����
�� ��
� ��� �����
��� �
�� ��� ����� φ̂ = Aeαŷ 
�	 θ̂ = Beαŷ ��� ������
�� ���
�
��
�&���� 
� ���

��	"

(C + α2)A− iB = 0 ���)*!

βCA+

(
2α2

E2
− i

)
B = 0. ���))!

+��� ��� ������
�� ����	
����
��
� ,
�
������ 
�� 
����	���	"

C =
ρg0ω

2
0h

2
0

p0
���)�!

E =
h0

δT
���)-!

β =
(γ − 1)

γ
. ���) !

��� �����
��� �� ��
�� ��� 	�����
�
�� �� ��� ���.�
��� �
��
� �
� �� �� /���� 0�
� ��
	� ��
��� ������
�� ���
�
��"

2α4

E2
+

(
2C

E2
− i

)
α2 + (β − 1)iC = 0. ���)�!

0�
� �
� ,�����

��& ���� �����
��� αi(i = 1...4)� 0�� �����
�� �
� ���� �� ��
���� 
�"

φ̂ =
4∑

j=1

Aje
αj ŷ ���)1!

θ̂ =
4∑

j=1

Bje
αj ŷ. ���)#!



���

Aj ��� Bj ��� ������� ���	
�� �
���� ��

Bj = −i(C + α2
j )Aj. �
����

��� �	
����� �	�����	�� ��� �� 
��� �	 ��������� � �	
� �� �	
� ��
���	� ������ �	� Aj�
���� ���

4∑
j=1

Ajαj = 0 �
����

4∑
j=1

Aje
−αj = ip̂liq �
����

4∑
j=1

(C + α2
j )e

−αjAj = 0 �
����

4∑
j=1

(C + α2
j )Aj = 0. �
����

�	 � ������	� ��� ��� ��� �	�!�������	��� "����
�� p̂(ẑ = −1) ��� ��� ���"�������� 	�
��� �	
����� ε ����� �	 �� ������������ ε �� �"���#�� �	 �� "	����$�  ��� ��� $	�
�� 	� ���
"���	� �� ���������� ���� #�
�� %�&�� ��� �	�!�������	��� ���"�������� 	� ��� "���	� �� ε̂ ��
��#��� �� ε̂ = h0ε� ��� �	
����� �	�����	� �� y = −h0 �� ���� εt = −φy ��� pliq = −ρg0φt�
��� �	�!�������	��� ����	 ��� ��� "����
�� ��� ���"�������� �� �����

G =
p̂

ε̂
= − φ̂

φ̂ŷ

= −
∑4

j=1Aje
−αj∑4

j=1Ajαje−αj

. �
��'�

���� ��� "	����	"�� �("	���� κ �	��	 � ��	� �%��)� ���

κ = −h2
0ρg0ω

2
0

p0
�(G). �
��&�

��� ���
����� "	����	"�� ����( κ(h0/δT ) �� "�	���� �� #�
�� 
�� ��� �� ���� �	 #� ���
"��$�	
� ����
����� "	����	"�� ����( ��	� ��� �	��� �� �����	� %�� ���
���� 
���	�� "����
���
*
� �	 �	�� ��� "����
�� $��� ������ ��� ��� "	�+��, �	 ��$�������� ���� ��� ����	 	� ���
���	�
�� $��
� 	� ��� ������$� "����
�� ��$���� �� ��� "����
�� 	� ��� ���
�� �
����� |p|/pliq-
��$�� ��

p

pliq
=

−ρg0iω0φ

pliq
=

−i

p̂liq

4∑
i=1

Aje
αj ŷ, �
��%�

�� "�	����� ���� ����� ���� E ����� �	 �� �"���#��  ���� �	� ��� "	�+�� . �� E = 51.01�
��� ����	 	� �"���#� ����� �	� ��� �� γ = 1.4� ��� ���
����� �"����� "����
�� $������	� ��
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�
 �
� �������� ��������� �� ���� �� �� ���� �����
 �� �
� ��������� �
�
��������������� ��������� C �� ��������� �� �������� ���� �� ��� ��� �
������ �������

c20 =
∂p

∂ρad.

= γRT0. �	
� !

"������� ��������� �� �
� ��������������� ��� �
����� ���� ����� �� �������� ���#������� �
�
������ ���#����� �� ��������� �� � �������� ���� ���� ������ �
� �
����� �
��
 ������ ��
�
� ���#����� ω��
 �
�� �� ����� �� 	�������� ��� ����$
� %&' ���

ω�� =
πc0
h0

. �	
�(!

)���� �
��� �������� C ��� �� ����� �� �
� ��������� ����������� ������

C =
γω2

0h
2
0

c20
= π2γ

(
ω0

ω��

)2

= γM2 �	
�&!

C �� ���� �� �� � ����� ��������� �� �
� ��� ���$��� ������� �� �
����� �
 	�� ��� ���$��  
��� ����� �� C = 0.148e− 3
 �
� ���� �#������ �� �#������ 	
�& ������� �
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]
��
*'�

!�
�
 α = (1 + i)
√

1/(2B1)
 ��
 ��	���	�� ��
(

B1 = 2

(
δT
h0

)2

��
**�

B2 = −γ−1
γ
Cφ̂1 ��
*-�

C2 = 1−e−α

e−α−eα
��
*&�

C1 = −C2 − 1. ��
*.�

��
 ��	���	�� A1 �	� A2 ��
 �
�
���	
� �� ��������	� ��
 ���	���� ��	�����	�
 ��
 ���	�/
��� ��	�����	 �� ��
 ��	" ���� ŷ = 0� �
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